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1. HERHEAS RESLDEST, ) N
2% 2,128,659 ( -0.9% ) 2,130,482 ( -0.8% )| 2,131,676 ( -0.9% )
* AT A 03K -1, 823 -1,194 -13, 739
RSB A S 22,794 ( -3.8% ) 23,546 ( 1.9% ) 21,997 ( -8.0% )
BEEL NS 21,591 ( -5.1% ) 21,623 ( -0.6% ) 20,814 ( -4.2% )
BHEE (AEH) 2,126 ( -13.0% ) 2,197 ( -16.5% ) 3,088 ( -0.8% )
BEEE (AEHR) 4,385 ( -9.4% ) 5,089 ( -9.1% ) 6,058 ( -8.4% )
REE (AOBAY) 1. 68% 1. 68% 1. 68%
2. BENHEY EESLHESE. )
2% 1,640,519 ( 0.4% ) 1,639,558 ( 0.4% )| 1,637,405 ( 0.3% )
* AT A 03K 961 2,153 -4,121
B B g 17,778 ( -2.4% ) 18,112 ( 3.5% ) 16,618 ( —6.7% )
REEEEL 16,877 ( -4.2% ) 16,819 ( -0.5% ) 15,916 ( -2.8% )
3. HHERAHFREUEES RESITZSTEL, )
B8 1,632,313 0.4% ) 1,631,720 ( 0.4% )| 1,629,695 ( 0.3% )
WS
EinE 862,076 | 52.8%(( 3.5% ) 860,960 ( 3.5% ) 859,498 ( 3.5% )
e [BFIHE 93, 232 5.7%( -6.0% ) 93,392 ( -5.8% ) 93,487 ( -6.0% )
¥ |mRE - EEE R 419,959 | 25.7%(( -2.4% ) 420,132 ( -2.3% ) 419,164 ( -2.5% )
E BT 192,746 | 11.8%( 1.6% ) 192,085 ( 1.5% ) 191,220 ( 1.2% )
Bl || it 227,213 | 13.9%|( -5.5% ) 228,047 ( -5.3% ) 227,944 ( -5.4% )
W I ZD bt 257,046 | 15.7%( -2.6% ) 257,236 ( -2.6% ) 257,546 ( -2.5% )
R [wgzpe 169,381 | 10.4%[( -2.3% ) 169,058 ( —2.2% ) 168,564 ( -2.1% )
2 ALLE it 87, 665 5.4%/( -3.2% ) 88,178 ( -3.5% ) 88,982 ( -3.4% )
4. REOHE
EHALE 19, 838 ( 0.0% ) 20,795 ( 3.2% ) 18,088 ( -5.8% )
A A 1504 -957 2,107 -3, 583
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LAOHRMEAR = MAOHKRMEAR - WAO( REELAR + RBREEARE) ) + GA0( RERAKAR + RREE(ARH) )
XEAHME = ( BARMBBAR + HYAXE (ARH) ) - (MAREELAR + MAKRMEZE (ARE) )
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